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?-consult 'ex1.pro'.
Compiling ex1.pro.

Yes.

?-p(a).

Yes.

?-p(b).

No.

?-p(c).

Yes.

?- trace.
Built_in function "trace" not implemented.

No.

?-

                           A.D.A. PROLOG
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?-consult ex1.

Compiling ex1.

Yes.

?-trace.
E: trace

Yes.

?-p(a).
C: p(a)

C: q(a)

E: q(a)

C: not r(a)

C: r(a)

C: w(a)

E: w(a)

C: not s(a)

C: s(a)

E: s(a)

F: not s(a)

R: w(a)

F: w(a)

F: r(a)

Yes.

?-p(b).
C: p(b)

C: q(b)

E: q(b)

C: not r(b)

C: r(b)

C: w(b)

E: w(b)

C: not s(b)

C: s(b)

F: s(b)

E: not s(b)

E: r(b)

F: not r(b)

R: q(b)

F: q(b)

F: p(b)

No.

?-p(c).

C: p(c)

C: q(c)

E: q(c)

C: not r(c)

C: r(c)

C: w(c)

F: w(c)

F: r(c)

Yes.

?-notrace.
C: notrace

Yes.

?-

?-dir.
   a (0)

   b (0)

   c (0)

S: ex1

   p (1)

   q (3)

   r (1)

   s (2)

   w (2)

Yes.

?-dir p.
   p (1)

   q (3)

   r (1)

   s (2)

   w (2)

?-consult ex2.
Compiling ex2.

Yes.

?-dir.
   a (0)

   b (0)

   bachelor (1)

   c (0)

S: ex1

S: ex2

   henry (0)

   male (2)

   married (1)

   p (1)

   q (3)

   r (1)

   s (2)

   tom (0)

   w (2)

Yes.

?-dir p.
   bachelor (1)

   male (2)

   married (1)

   p (1)

   q (3)

   r (1)

   s (2)

   w (2)

Yes.

?-consult ex3.
Compiling ex3.

Yes.

?-dir p.
   bachelor (1)

   distance (1)

   male (2)

   married (1)

   p (1)

   q (3)

   r (1)

   s (2)

   speed (4)

   time (4)

   w (2)

Yes.

?-dir.
   a (0)

   b (0)

   bachelor (1)

   c (0)

   chevy (0)

   dodge (0)

   distance (1)

S: ex1

S: ex2

S: ex3

   ford (0)

   henry (0)

   male (2)

   married (1)

   p (1)

   q (3)

   r (1)

   s (2)

   speed (4)

   tom (0)

   time (4)

   volvo (0)

   w (2)

Yes.

?-consult ex4.
Compiling ex4.

Yes.

?-dir p.
   bachelor (1)

   distance (1)

   likes (4)

   male (2)

   married (1)

   p (1)

   q (3)

   r (1)

   s (2)

   speed (4)

   time (4)

   w (2)

Yes.

?-dir.
   a (0)

   apricots (0)

   b (0)

   bachelor (1)

   c (0)

   chevy (0)

   chocolate (0)

   dodge (0)

   distance (1)

   darcie (0)

S: ex1

S: ex2

S: ex3

S: ex4

   ford (0)

   henry (0)

   jake (0)

   likes (4)

   licorice (0)

   male (2)

   married (1)

   p (1)

   q (3)

   r (1)

   s (2)

   speed (4)

   tom (0)

   time (4)

   volvo (0)

   w (2)

Yes.

?-trace.
E: trace

Yes.

?-likes(jake,What),likes(marcie,What).
C: likes(jake,What_0)

E: likes(jake,chocolate)

C: likes(marcie,chocolate)

F: likes(marcie,chocolate)

R: likes(jake,What_0)

E: likes(jake,apricots)

C: likes(marcie,apricots)

F: likes(marcie,apricots)

R: likes(jake,What_0)

F: likes(jake,What_0)
?-listing.
bachelor(P) :-

(male(P) , not married(P) ).

distance(X,Y) :-

(speed(X,Speed) , (time(X,Time) , (Y is (Speed * Time)))).

likes(jake,chocolate).

likes(jake,apricots).

likes(darcie,licorice).

likes(darcie,apricots).

male(henry).

male(tom).

married(tom).

p(X) :-

(q(X) , not r(X) ).

q(a).

q(b).

q(c).

r(X) :-

(w(X) , not s(X) ).

s(a).

s(a).

speed(ford,100).

speed(chevy,105).

speed(dodge,95).

speed(volvo,80).

time(ford,20).

time(chevy,21).

time(dodge,24).

time(volvo,24).

w(a).

w(b).

Yes.

?-forget ex1.
Yes.

?-dir p.
   bachelor (1)

   distance (1)

   likes (4)

   male (2)

   married (1)

   speed (4)

   time (4)

Yes.
?-retract (time (volvo,24)).
Yes.

More? (Y/N):n

?-listing.
bachelor(P) :-

(male(P) , not married(P) ).

distance(X,Y) :-

(speed(X,Speed) , (time(X,Time) , (Y is (Speed * Time))))

likes(jake,chocolate).

likes(jake,apricots).

likes(darcie,licorice).

likes(darcie,apricots).

male(henry).

male(tom).

married(tom).

speed(ford,100).

speed(chevy,105).

speed(dodge,95).

speed(volvo,80).

time(ford,20).

time(chevy,21).

time(dodge,24).

Yes.
?-consult ex5.
Compiling ex5.

Yes.

?-rarebird(condor).
No.

?-rarebird(What).
What = [condor,whooping_crane,dusky_seaside_sparrow]

?-consult ex6.
Compiling ex6.

Yes.

?-listing.

noteworthy(Bird) :-

rarebird([Bird, _ , _ ]).

noteworthy(Bird) :-

rarebird([ _ ,Bird, _ ]).

noteworthy(Bird) :-

rarebird([ _ , _ ,Bird]).

rarebird([condor,whooping_crane,dusky_seaside_sparrow]).

Yes.

?-rarebird(Who).

Who = [condor,whooping_crane,dusky_seaside_sparrow]

?-noteworthy(condor).

Yes.

More? (Y/N):n

?-noteworthy(Who).

Who = condor

More? (Y/N):y

Who = whooping_crane

More? (Y/N):y

Who = dusky_seaside_sparrow

?-

